Part-time work

By Francoise Milewski

Part-time work as a share of total employment has increased
significantly. This increase was limited in the 1970s and then
accelerated in the 1980s and especially in the 1990s. During
the 2000s and early 2010s, changes in the long-term trend were
less pronounced. Overall, the share of part-time work more
than doubled in the last forty years and now accounts for
nearly one-fifth of employment.

This development is the result of a number of social and
economic trends. It reflects both changes in the labour market
— growth in the tertiary sector to the detriment of industry
and the proliferation of categories of employment - and
inequalities between women and men. It is also the fruit of
public policy.

Part-time jobs are occupied mostly by women. They are also
predominantly held by employees aged 25 to 49, although a
trend towards part-time work has emerged among seniors. Part-
time jobs are usually low-skilled. Although these jobs often
involve working 15 to 29 hours a week, working times can vary
greatly, with a trend towards a greater portion of shorter
work weeks. Part-time employees generally are not on fixed-
term contracts, so it is a stable form of employment. Whether
monthly or hourly, wages are low, and part-time employees are
overrepresented among minimum wage and low-wage workers. Work
schedules that are atypical and which can involve multiple
shifts, with fluctuating unpredictable schedules, generally
mean poorer working conditions.

Part-time work is heterogeneous in terms of both the reasons
given by employees who may request it as well as the ways
businesses are organized in different economic sectors. There
are thus multiple logics involved in part-time work (which in
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French leads to use of the term “des temps partiels” to
account for this multiplicity).

The development of the service sector has spurred the increase
in part-time work. Part-time jobs in sectors such as retailing
and distribution, hotels and catering, cleaning, personal
services and some public services are predominantly occupied
by women. This reflects the type of training women have
acquired, stereotypes about the natural aptitude they
supposedly have to care for others, and their
overrepresentation in low or unskilled work. The tradeoffs
women make between work and family tasks reinforce these
trends, either because full-time work seems incompatible, or
because after parental leave they prolong the reduction in
work that they have experienced. After an extended leave, it
can sometimes be very difficult to reintegrate the world of
work.

Increasing labour flexibility in recent decades has reinforced
these trends. The multiplication of forms of employment has
affected women in particular, both because they work mainly in
the sectors that have been at the origin of this trend and
because women are at a disadvantage in the labour market and
more readily accept poorly paid jobs.

During certain periods public policy has favoured part-time
employment while at others it has sought to limit its impact.
At the junction between employment-related goals and family-
related goals, policy has sometimes suffered from being
inconsistent.

There are sometimes significant differences between countries
within the European Union, as a result of specific historical
developments, different social consensuses, and specific
regulations on the labour market.

Analyzing the current situation and identifying the changes
underway provides a glimpse of the potential changes to come



and thus fuels debate about these developments and their
implications for policy makers. Do part-time work and full-
time work develop according to the same dynamics? Is there a
trend within part-time work towards greater flexibility, or
less? To what extent is women’s autonomy being challenged by
the development of part-time work as a stable form of
employment? Is part-time work a form of underemployment or a
way of getting into the labour market and full-time work? All
of these are questions that influence the development of
public policy[1].

For further information, read the OFCE Note, no. 38 of 13
December 2013.

[1] This article summarizes a study by the Labor and
Employment section of the Conseil économique, social et
environnemental [Economic, Social and Environmental Council],

“Part-time work , Francoise Milewski , Les Editions des
Journaux officiels, December 2013, forthcoming.

How can a basic 1income be
defended?

By Guillaume Allegre

Following the submission of 125,000 signatures collected by
organizations supporting the introduction of a basic income,
Swiss citizens will vote in a referendum on a popular
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initiative on the inclusion of the principle of an
unconditional basic income in the Swiss Federal Constitution.

An OFCE Note (no. 39 of 19 December 2013) analyses the grounds
for supporting the institution of a basic income.

While a basic income can take many forms, its principle is
that it is paid (1) on a universal basis, in an equal amount
to all, without testing for means or needs, (2) on an
individual basis and not to households, and (3)
unconditionally, without requirement of any counterpart. A
progressive version would add a fourth characteristic: it must
be (4) in an amount sufficient to cover basic needs and enable
participation in social life.

While this looks attractive, it is not easy to find grounds in
terms of distributive justice that are consistent with these
four characteristics of a guaranteed basic income. So long as
there exist economies of scale and a political trade-off
between conditionality and the level of minimum income, then
in a Rawlsian perspective a system of guaranteed minimum
income like the French RMI / RSA programme (family-based with
weak conditionality) seems preferable to a pure basic income.
In addition, the generalized reduction of working time seems
more sustainable than a guaranteed basic income for achieving
the ecological and emancipatory goals that are often
attributed to a guaranteed basic income.

It seems that the main advantage of a guaranteed basic income
is that its universality means that it does not cause any
undue use or non-use and so does not stigmatize the net
beneficiaries of the system. From this perspective, minimum
income support could be turned into a universal benefit, which
would be less stigmatizing. This allocation needs to take into
account family composition and set conditions on social
participation. It would involve checks on black market work
and include incentives to work. It would be supplemented by
specific policies to provide support for children, the elderly
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and disabled people, i.e. people who do not respond to
incentives, and it would complement the insurance system
(unemployment, retirement, illness). The social protection
system would thus not really be simplified but transformed in
such a way as to avoid stigmatization and the lack of take-up.

While a guaranteed basic income is not a stupid idea, nor 1is
it the miracle reform pictured by its advocates, i.e. a
veritable Swiss Army knife for reforming social welfare, a
social and environmental emancipator.

To contact the author: guillaume.allegre@sciencespo.fr

To follow the author on Twitter: @g_allegre

Is the French tax-benefit
system really redistributive?

By Henri Sterdyniak [1]

France has set up benefits such as RSA income support, PPE in-
work negative income tax, CMU universal health care, the
minimum pension, housing allowances, and exemptions from
social security contributions for low-wage workers. From the
other side, it has a tax on large fortunes; social insurance
and family contributions apply to the entire wage; and capital
income is hit by social security contributions and subject to
income tax. France’s wealthy are complaining that taxation is
confiscatory, and a few are choosing to become tax exiles.

Despite this, some people argue that the French tax-benefit
(or socio-fiscal) system is not very redistributive. This view
was recently lent support by a study by Landais, Saez and
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Piketty: the French tax system is not very progressive and
even regressive at the top of the income hierarchy [2]: the
richest 0.1% of households are taxed at a very low rate. But
redistribution through the tax-benefit system is effected not
just through taxes but also through social benefits. We must
therefore look at both these aspects to evaluate how
redistributive the system is. This 1is especially true as
Landais, Saez and Piketty take into account the VAT paid on
consumption financed by social benefits, but not the benefits
themselves, meaning that the more a poor household benefits
(and spends) from social benefits, the more it seems to lose
on redistribution.[3]

Four researchers from Crédoc, the French Research Center for
the Study and Monitoring of Living Standards, have published a
study [4] that takes benefits into account. They nevertheless
conclude: “The French tax system, taken as a whole, is not
very redistributive.” The study uses post-redistribution
standard-of-living deciles to review the benefits received and
the taxes paid by households (direct taxes, indirect taxes and
social contributions) as a percentage of disposable income,
and compares France, Italy, the United Kingdom and Sweden. In
France, net transfers (levies less benefits) represent only
23% of household disposable income in the first standard-of-
living decile (the poorest), against 50% in the United Kingdom
(see figure). At the other end of the scale, in France
transfers lower the disposable income of the richest
households by only 6%, versus 30% in the UK, 40% in Sweden,
and 45% in Italy. France is thus considered to have the lowest
level of redistribution, with little distributed to poor
people and low taxes on the rich.
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Figure. According to the CREDOC, the French tax-benefit system
is not very redistributive

Summary of transfers received and contributions paid,
as a % of disposable income, by standard of living decile
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Source: Credoc calculations using data from the Luxembourg Income Study, 2006,

Mote: People in the lowest standard of living decile (i_e. the poorest 10%) receive a net gain from
redistribution equal to 23% of their disposable income. This net gain is calculated as the difference
between their social transfers (social, sickness and pension benefits) and their contributions (income
tax, social charges, indirect taxes).

Yet the French tax-benefit system is considered by
international institutions as one of those that minimize
inequalities the most. For instance, the OECD (2011) wrote:
“Redistribution through taxes and benefits reduces inequality
by just over 30% in France, which is well above the OECD
average of 25%".

The OECD provides statistics on income inequality (measured by
the Gini coefficient) before and after transfers. Of the four
countries selected by the Crédoc, it is France where the Gini
1s reduced the most as a percentage by transfers (Table 1), to
an extent equivalent to the level in Sweden, and significantly
greater than the reduction in Italy and the UK. Euromod winds
up with a substantially similar classification (Table 2).
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Table 1. Gini index of income distribution (in 2010) according to the OECD

Before transfers After transfers Impact of transfers
Germany 1.496 .286 -42.3
Denmark 0.429 0.252 -41.3
France 0.505 0.303 -40.0
Italy 0.503 0.319 -16.6
United Kingdom 0.523 0.341 -35.2
Sweden 0.441 0.269 -39.0
United States 0.499 0.380 -23.8

Sourcer ORCD (20713). The Gini index lies between O {perfect income equality) and 1. The distribution of income becomes
more egual as the index approaches 0.

Table 2. Gini index of income distribution (in 2010) according to Euromod

Before transfers After transfers Impact of transfers
Germany 0.518 0.380 -48.1
Denmark 0.443 0.334 -54.0
France 0.483 0.349 -50.1
Italy 0.497 0.373 -36.8
United Kingdom 0.524 0477 -38.0
Sweden 0.429 0.317 -46.2

Source: Eurcmod, 2012,

Table 3. Poverty rate (60% threshold)

2005 2m2

Germany 12.2 16.1
Denmark 1.8 13.1
France 13.0 141
Italy 18.9 19.4
United Kingdom 190 162
Sweden 2.5 14.2

Source: Eurastat, 2001 2.

The Portrait social [Social Portrait] by the INSEE provides a
careful summary of how redistributive the French socio-fiscal
system is (Cazenave et al., 2012). It seems that inequality is
reduced significantly (Table 4) in France: the inter-decile
ratio (D10/D1) falls from 17.5 before redistribution to 5.7
afterwards.[5] According to the INSEE, 63% of the reduction in
inequality comes from social benefits and 37% from levies,
which confirms the need to take benefits into account in order
to assess redistribution.
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Table 4. Standard of living fractiles before redistribution according to the INSEE*

D1 a1 Q2 Q3 Q4 Qs D10
Average income before redistribution 4 128 7266 15591 21474 28626 55292 72195
Average disposable income (DI} 9048 11 266 15847 20145 25602 44919 56 654
Met transfers 5 820 4 000 256 -1 329 3024 10373 -15 541
Net transfers as % of DI 59 is 2 7 -12 -23 -27

* in euros per year per consumption unit. D1: the 10% of people with the lowest living standard; Q1: the 20% of people
with the lowest living standard, etc.; D10: the 10% of people with the highest living standard.
Source; INSEE, 2013, Portrait social.

The vision presented by Crédoc of the redistributivity of the
French tax-benefit system is thus unusual.. and, to put it
frankly, wrong.

The study 1is based on data from the Budget des familles
[Family budget] survey that is not matched with fiscal data
and which 1is generally considered less reliable than the
Euromod survey or than the tax and social security figures
used by the INSEE. This may explain some important differences
between the Crédoc figures and those of the INSEE: for
example, according to the INSEE, non-contributory transfers
represent 61% of the disposable income of the poorest 10%, but
only 31% according to Crédoc (Table 5).

Like the INSEE, the Crédoc study ignores employer national
health insurance contributions (which hit high wages 1in
France, unlike most other countries) and the ISF wealth tax
(which exists only in France). Furthermore, it does not
distinguish between contributory contributions (which give
rights to a pension or unemployment benefits) and non-
contributory contributions (such as health insurance or family
contributions), which do not give rights. However, low-wage
workers are not hit by non-contributory contributions 1in
France, as these are more than offset by exemptions from
social security contributions on low wages.
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Table 5. Redistribution for the extreme deciles
A comparison of INSEE and CREDOC

D1 D10
INSEE CREDOC INSEE CREDOC
Primary income (pre-distribution) 41.5 9 127.4 93
Contributory benefits iB iz
MNon-contributory benefits 60.2 EY 0.6 1
Social contributions -2.1 -8 -10.1 -16
Direct taxes 0.4 0 -17.9 -10
Total: Net disposable income 100 100 100 100
Indirect taxes -22 -36 -10 -13
Met transfers (excl. indirect taxes) +58.5 +59 -27.4 7
Met transfers (incl. indirect taxes) +36.5 +23 -37.4 -6

Source: Authors” calculalions based on INSEE (207 3) and CREDOC (201 3).

Most importantly, the study contains two errors that heavily
distort the conclusions. The first methodological error is
that, contrary to the INSEE, the authors include contributory
transfers, in particular pensions [6], in social transfers.
But for retirees, public pensions represent a very large part
of their disposable income, particularly in France. Since the
pension system ensures parity in living standards between
retirees and active employees, then retirees show up in all
the standard of living deciles and the tax-benefit system does
not seem to be very redistributive, as it provides benefits to
wealthy retirees. And contrariwise, if a country’s pension
system does not assure parity in living standards between
retirees and active employees, then the tax-benefit system
will seem more redistributive, as it provides pensions only to
the poor.

So paradoxically, it is the generosity of the French system
towards pensioners and the unemployed that makes it seem to be
not very redistributive. Thus, according to Crédoc, the
richest 10% receive contributory transfers representing 32% of
their disposable income, which means that, in total, their net
transfers represent only a negative 6% of their income. This
is especially the case as Crédoc does not take into account
the old-age pension contributions (cotisations vieillesse)
incurred by businesses. If, as the INSEE does, pensions (and
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more generally all contributory benefits) are considered as
primary 1income, resulting from past contributions, the
negative net transfers of the richest decile increase from -6%
to -38%.

The other methodological problem is that Crédoc claims to take
into account the weight of indirect taxes in disposable income
(which INSEE does not). This comes to 36% for the poorest 10%,
23% in the middle of the income hierarchy, and only 13% for
the best-off. The highly regressive nature of indirect taxes
would make the whole tax system regressive: the poorest pay
more than the rich. According to the figures from Landais,
Saez and Piketty (2011), indirect taxation is definitely
regressive (15% of the disposable income of the poorest, and
10% for the richest), but the gap is only 5%. According to the
INSEE [7], the weight of indirect taxes in disposable income
is 22% for the poorest, 16% in the middle income range and 10%
for the richest. This difference comes from the structure of
consumption (the poorest consume relatively more tobacco and
petroleum products), and especially the savings rate, which
increases as households earn more. In fact, the difference is
undoubtedly overstated in an inter-temporal perspective: some
households will consume today’s savings tomorrow, so it 1is
then that they will be hit by indirect taxation. In fact, the
Crédoc study heavily overestimates the weight of indirect
taxes by using an extravagant estimate of the household
savings rate [8]: the overall French household savings rate is
-26.5%; only decile D10 (the richest 10%) have a positive
savings rate; decile D1 has a negative savings rate of -110%,
that is to say, it consumes 2.1 times its income. The poorest
decile 1is thus hit hard by the burden of indirect taxes. But
how likely is this savings rate?

National tax-benefit systems are complex and different.
Comparisons between them need to be made with caution and
rigour. To judge how redistributive the French system actually
is, 1t is still more relevant to use the work of the INSEE,
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the OECD or Euromod than this (too) unusual study.

[1] We would like to thank Juliette Stehlé, who provided
assistance in clarifying certain points in this note.

[2] See Landais C., T. Piketty and E. Saez, Pour une
révolution fiscal [For a tax revolution], Le Seuil, 2011.

[3]1 See also Sterdyniak H., “Une lecture critique de
L’'ouvrage Pour une révolution fiscal” [A critical reading of
the work Pour une révolution fiscal], Revue de 1’0FCE,
no. 122, 2012. Note also that you cannot arrive at an overall
judgment on the progressivity of the system from the case of a
few super-rich who manage to evade taxes through tax schemes.

[4] Bigot R, E. Daudey, J. Muller and G. Osier: “En France,
les classes moyennes inférieures bénéficient moins de la
redistribution que dans d’autres pays” [In France, the lower
middle classes benefit less from redistribution than in some
other countries], Consommation et modes de vie, Crédoc,
November 2013. For an expanded version, see: “Les classes
moyennes sont-elles perdantes ou gagnantes dans la
redistribution socio-fiscale” [Are the middle classes losers
or winners from the tax-benefit redistribution], Cahiers de
Recherche, Crédoc, December 2012.

[5] Also note that the INSEE underestimates somewhat the
redistribution effected by the French system since it does not
take into account the ISF wealth tax. It also does not include
employers’ national health insurance, which in France 1is
strongly redistributive as it is not capped. From the other
side, it does not take account of indirect taxes.

[6] And replacement income such as unemployment benefits and
sickness benefits.

[7]1 See Eidelman A., F. Langumier and A. Vicard: “Prélevements
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obligatoires reposant sur les ménages:

des canaux redistributifs différents en 1990 et 2010"
[Mandatory taxes on households: different channels of
redistribution in 1990 and 2010], Document de Travail de la
DESE de 1’INSEE, G2012/08.

[8] Estimation from EUROMOD (2004): “Modelling the
redistributive impact of indirect taxation in Europe”, Euromod
Working paper, June.

Europe’s banks: sustaining
the renewal of confidence

By Céline Antonin and Vincent Touzé

Since August 2012, bank shares in the stock markets have risen
and their volatility has reduced, attesting to a return of
confidence. Is this newfound confidence sustainable? OFCE Note
no. 36 of 11 December 2013 attempts to answer this question by
taking stock of the state of the banks in late 2013.

The financial crisis saw the valuation of banks suffer due to
both a decline in the profitability of activities related to
the financial markets and a general crisis of confidence in
stock market investments. Since August 2012, however, bank
results have improved, as has their performance on the stock
markets.

That said, this newfound confidence is emerging in a context
of profound change: the crisis has altered the way the
European banking system functions, with the European Central
Bank playing a greater role in lending to banks and with a
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sharp reduction in national exposures in the riskier countries
(Portugal, Ireland, Italy, Spain and Greece).

Whether this confidence is sustainable will depend on the
ability of the banks to face up to two challenges: first, to
reduce the risk of insolvency of public and private debt in
certain Member States; and second, to adapt to the
institutional changes taking place at the European level
(implementation of Basel 3, the banking union project and the
gradual shift from a bail-out logic to a bail-in logic).

From austerity to stagnation

By Xavier Timbeau

Since 2010, the European Commission has published the Annual
Growth Survey to stimulate discussion on the occasion of the
European semester, during which the governments and
parliaments of the Member States, the Commission, and civil
society discuss and develop the economic strategies of the
various European countries. We considered it important to
participate in this debate by publishing simultaneously with
the Commission an independent Annual Growth Survey (1iAGS), in
collaboration with the IMK, a German institute, and the ECLM,
a Danish institute. In the 2014 iAGS, for instance, we
estimate the cost of the austerity measures enacted since
2011. This austerity policy, which was implemented while the
fiscal multipliers were very high and on a scale unprecedented
since the Second World War, was followed simultaneously by
most euro zone countries. This resulted in lopping 3.2% off
euro zone GDP for 2013. An alternative strategy, resulting
after 20 years in the same GDP-to-debt ratios (i.e. 60% in
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most countries), would have been possible by not seeking to
reduce public deficits in the short term when the multipliers
are high. In order to lower the fiscal multipliers again, it'’s
necessary to reduce unemployment, build up agents’ balance
sheets and get out of the liquidity trap. A more limited but
ongoing adjustment strategy, just as fiscally rigorous but
more suited to the economic situation, would have led to 2.3
additional points of GDP in 2013, which would have been much
better than under the brutal austerity we find ourselves in
today. This means there would not have been a recession in
2012 or 2013 for the euro zone as a whole (see the figure
below: GDP in million euros).

Impact of austerity on economic activity, 2011-2015
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It is often argued that the state of euro zone public finances
left no choice. In particular, market pressure was so great
that certain countries, like Greece for example, were
concerned that they would lose access to private financing of
their public debt. The amounts involved and the state of the
primary deficit are advanced to justify this brutal strategy
and convince both the markets and the European partners.
However, the sovereign debt crisis, and hence market pressure,
ended when the European Central Bank announced that no country
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would leave the euro and set up an instrument, Outright
Monetary Transactions, which makes it possible under certain
conditions to buy back public debt securities of euro zone
countries and therefore to intervene to counter the distrust
of the markets (see an analysis here). From that point on,
what matters is the sustainability of the public debt in the
medium term rather than demonstrating that in an emergency the
populace can be compelled to accept just any old policy.
Sustainability does however require an adjustment policy that
is ongoing (because the deficits are high) and moderate
(because fiscal policy has a major impact on activity). By
choosing the difficult path of austerity, we paid a high price
for the institutional incoherence of the euro zone, which was
exposed by the crisis. In the 2014 iAGS, we point out costs
due to austerity that go beyond the loss of activity. On the
one hand, inequality is increasing, and “anchored poverty”,
i1.e. as measured from the median incomes of 2008, 1is
increasing dramatically in most countries affected by the
recession. The high level of unemployment is leading to wage
deflation in some countries (Spain, Portugal and Greece). This
wage deflation will result in gains in cost competitiveness
but, in return, will lead the countries’ partners to also take
the path of wage deflation or fiscal devaluation. Ultimately,
the adjustment of effective exchange rates either will not
take place or will occur at such a slow pace that the effects
of deflation will wind up dominant, especially as the
appreciation of the euro will ruin the hopes of boosting
competitiveness relative to the rest of the world. The main
effect of wage deflation will be a greater real burden (i.e.
relative to income) of private and public debt. This will mean
a return to centre stage of massive public and private
defaults, as well as the risk of the euro zone’s collapse. It
is possible nevertheless to escape the trap of deflation.
Possible methods are explored and calculated in the 2014 1iAGS.
By reducing sovereign spreads, the countries in crisis can be
given significant maneuvering room. The 1levers for this
include the continuation of the ECB’s efforts, but also a
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credible commitment by the Member states to stabilizing their
public finances. Public investment has been cut by more than 2
points of potential GDP since 2007. Re-investing in the future
1s a necessity, especially as infrastructure that is not
maintained and is allowed to collapse will be extremely
expensive to rebuild. But it is also a way to stimulate
activity without compromising fiscal discipline, since the
latter must be assessed by trends not in the gross debt but in
the net debt. Finally, the minimum wage should be used as an
instrument of coordination. Our simulations show that there is
a way to curb deflationary trends and reduce current account
imbalances if surplus countries would increase their minimum
wage faster in real terms than their productivity while
deficit countries would increase their minimum wage slower
than their productivity. Such a rule, which would respect both
national practices in wage bargaining as well as productivity
levels and the specific features of labour markets, would lead
to gradually reducing macroeconomic imbalances in the euro
zone.

America’s fiscal headache

By Christine Rifflart

Before next December 13™, the Budget Conference Committee must
present the results of the discussions begun following the
shutdown and debt crisis in October 2013. The objective of the
negotiations is to enable Congress to approve the 2014 Budget,
for which the fiscal year began on October 1 [1], and find an
alternative to the automatic cuts in federal spending that are
to take effect on 1 January 2014. An agreement does not seem
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out of reach. Even if sharp opposition between Republicans and
Democrats remains, reason should prevail and the risk of a new
budget crisis seems excluded. At worst a new Continuing
Resolution [2] will be passed that allows institutions to
continue to function and the arbitrary nature of automatic
budget cuts in structural expenditure to guide government
policy. At best, the negotiations will lead to reasoned cuts
in expenditure, and even to increases in some revenues that
will then curb the violence of the adjustment, a violence that
is amplified by the ending of the exceptional measures to
support income and activity that were enacted at the heart of
the crisis.

There is little room for negotiation. In fiscal year 2013, the
deficit for the entire public sector reached 7% of GDP (after
12.8% in fiscal year 2009), and the federal deficit came to
4.1% of GDP (after 9.8%). The federal debt currently comes to
72.7% of GDP, and is rising. Moreover, growth remains weak:
2.2% at an annual average since the 2010 recovery, with 1.8%
expected in 2013, which in particular is insufficient to
revitalize the job market. How then is it possible to come up
with a budget policy to support growth in a context of fiscal
austerity and deficit reduction while complying with the
commitments previously made by Congress[3], in particular the
Budget Control Act of 20117 Following the crisis concerning
the federal debt ceiling in July 2011, on 2 August 2011
President Obama signed the Budget Control Act of 2011, which
conditioned any increase in the federal debt ceiling on a
massive reduction in government spending over 10 years. In
addition to the introduction of caps on discretionary spending
[4], 1200 billion dollars in automatic cuts (sequestrations)
in expenditures were planned for the period 2013 to 2021 based
on a principle of parity between defense and non-defense
budgets. A number of social programs (pension 1insurance,
Medicaid, income guarantees, etc.) were exempted, while cuts
to the Medicare program for the elderly were limited to 2%. In
total, the cuts will apply to a little less than half of
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federal spending and will represent 109 billion per year in
savings on the deficit, i.e. 0.6% of GDP.

For the 2014 fiscal year, according to the CBO the combination
of these two measures (capped discretionary spending and
automatic cuts in unprotected budgets) as well as the renewal
of the amount of credits from 2013 to 2014 (i.e. a constant
nominal budget) will lead to cuts in discretionary spending of
20 billion dollars that will have to be borne entirely by the
Pentagon. On this basis, if the cuts are maintained,
discretionary spending in the defense and non-defense budgets
will have declined by 17% and 17.8%, respectively, in real
terms between 2010 and 2014.

But in addition to these brutal cuts, other programs, 1in
particular those primarily intended for low-income households,
will experience a reduction in their budget in 2014 because of
the expiration of the exceptional measures they previously
enjoyed. Thus, the program to extend unemployment benefits
created on 30 June 2008 for unemployed people who had
exhausted their rights (Emergency Unemployment Compensation)
ends on 1 January 2014. In the absence of other plans, this
will hit 4 million people.

This is also the case of the Supplemental Nutrition Assistance
Program (SNAP), which had benefited under the American
Recovery and Reinvestment Act of 2009 from additional funding
that elapsed on 1 November. Yet 47.7 million beneficiaries
(15% of the population) received food stamps this year.
According to the CBPP, the 7% cut in the program’s funds
should result in a decrease of 4 million in the number of
beneficiaries.

Another example: the housing benefits for the 2.1 million
families who cannot find decent housing will also be affected
by the termination of the budget extensions introduced in 2009
and the automatic cuts. If the budget is not renewed, from
125,000 to 185,000 of the families receiving benefits at end



2012 will no longer receive aid at end 2014.

According to the information currently available, a minimum
agreement on the Budget Conference Committee seems to be
emerging. The cuts in the defense budget could be approved
[5], while eventual increases in public utility charges would
be used to fund budget extensions for some social programs and
lighten the impact of the automatic cuts. Last April,
President Obama presented his Draft 2014 Budget to Congress.
At that time he proposed to remove the procedures for
automatic cuts, to reduce the debt in the long term through an
extensive fiscal reform, and in the shorter term to defer a
portion of the 2014 budget cuts to fiscal years 2015 and 2016
in order to boost growth. The agreement, which is likely to be
presented to Congress by 13 December, will undoubtedly not be
this ambitious. Faced with Republican (the majority in the
House of Representatives) partisans of additional savings, the
Democrats (the majority in the Senate) will find it difficult
to defend an increase in public spending in 2014 and to adopt
a fiscal policy that is less harmful to growth this year than
it was in 2013.

[1] After not having been adopted by Congress, the 2014 budget
has been financed since 16 October by a Continuing Resolution
(see note 2) on the basis of the 2013 budget amounts. The
Resolution is retroactive from the 1st day of the 2014 fiscal
year, 1.e. 1 October 2013, until 15 January 2014.

[2] A Continuing Resolution is a temporary resolution passed
by Congress that is used to extend the appropriations made the
previous fiscal year to the current fiscal year, while waiting
for new measures to be approved.

[3] According to the CBPP, if all the deficit reduction
measures adopted since 2010 in the 2011 Budget, the Budget
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Control Act of 2011 and the American Taxpayer Relief Act of
2012 are taken into account, the cumulative impact on the
deficit would be 4000 billion over the period 2014-2023, i.e.
the equivalent of 24% of 2013 GDP.

[4] Discretionary spending (33% of federal spending) 1is
spending for which the budgets are voted on an annual basis,
unlike mandatory spending (61%), which is based on programs
covered by prior law. The spending side of the government’s
fiscal policy rests mainly on changes 1in discretionary
spending, which are structural expenditure.

[5] Expenditure related to defense had already fallen by 13.1%
in real terms between Q3 2010 and Q3 2013.

The sources of an industrial
renewal

By Jean-Luc Gaffard

French companies in many sectors have had to deal with a
relative increase in unit labour costs, a relative decline in
the price of value added, and lower margin rates, meaning that
many of them are facing strong competition and are relatively
uncompetitive on price due to not having innovated and
invested enough in the past. The result over the last decade
has been a significant loss of substance in France’s
industrial network and a worsening foreign trade deficit. The
challenge of carrying out an industrial renewal is clearly
posed. This 1is not limited simply to manufacturing but
encompasses any activity that is likely to deal with demand on
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a relatively large scale and 1s organized on an industrial
basis[1].

It is common sense to assume that the solution lies in the
renewed capacity of these companies to innovate, to export and
quite simply to expand, or in a word, in the ability to regain
or acquire the non-price or structural competitiveness that
they are currently lacking. The difficulty they face is that
their lack of price competitiveness is leading them to seek
immediate reductions in cost to the detriment of investment in
innovation. Faced with this difficulty, economic policy makers
must resolve a real dilemma: either to take measures to
compete on taxation, social contributions, or even wages in an
effort to restore companies’ price competitiveness at the risk
of further weakening aggregate demand and ultimately
negatively impacting their turnover, or to keep the existing
system of taxation at the risk of depriving these companies of
the means to invest and innovate.

The consensus of the day naturally denies the existence of
such a dilemma. The presumed neutrality of money and the
budget, coupled with the flexibility of the markets for goods
and labour, is supposed to help the economy back on the path
of steady, stable growth. Businesses, now reassured by the
restoration of balanced public accounts and freed of excessive
regulatory constraint, are again free to invest.

This consensus embodies a reductive vision of the functioning
of market economies. The model of perfect competition, which
is the standard in this instance, pictures a world where
companies respond simply to price signals sent by the markets
for goods and by factors whose operation is immunized against
any power exercised by one or another protagonist in these
markets. Somehow or other, this is what is meant by the
assumption of efficient financial markets whose function is to
discipline firms and States. The reality is very different.
Markets are naturally and necessarily imperfect. Companies
develop strategies on pricing, production and investment that
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deal with this market environment at the same time that they
help to shape it. It is important to recognize this reality
before trying to define economic policies suited to it.

The sources of business competitiveness

In an industrial market economy, business growth comes from
innovation, in other words from companies’ ability to develop
non-price or structural competitiveness that is more robust
and more lasting than just price competitiveness.
Technological or organizational innovation aimed at the
creation of new products or services or at the exploration of
new markets entails however a detour away from production.
Time is needed to develop a new production capacity before
using it and benefiting from it.

Generally, this new capacity has a higher construction cost
than the cost of simply replacing existing capacity.
Additional costs must be borne before the corresponding
additional income can be collected. A loss of competitiveness,
in principle temporary, 1is apparent. This could be reflected
in increases in current prices (of old products) if the hike
in costs is to be passed on immediately or, more likely, by a
reduction in margins. The performance of the production of
existing goods or services is thus negatively affected by the
decision to innovate [2].

In this context, it is still necessary for the company to
remain competitive on prices in the short term in order not to
lose significant market share to its competitors. It is in
regard to this immediate requirement that the issue of labour
costs comes up. This 1is a particular issue in the euro zone
where in the absence of possible adjustments via exchange
rates, legal and regulatory differences on social and fiscal
matters create real distortions in competition - and when,
furthermore, the international fragmentation of production (in
reality the relocation of segments of production to countries
where wages are lower but qualifications identical) 1is
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providing businesses that have the ability or opportunity to
exploit this an advantage in terms of the costs passed on in
product prices, margins and investment volumes.

Maintaining or regaining immediate price competitiveness will
not, however, suffice. It is still necessary to encourage
companies to innovate. But when investments, including
intangible investments, are irreversible and when information
on the future configuration of the market is not immediately
available, it is difficult for companies to do this. They
cannot base their decisions on price signals alone. They must
be able to secure their investments by acquiring sufficient
knowledge about the future market, that is to say, not only
the size of demand, but also about competing and complementary
offers. The point is to ensure that competing investments do
not exceed a certain threshold and that complementary
investments attain a certain threshold. This is possible only
thanks to practices that have to be considered monopolistic,
which are related to different forms of connections between
the companies concerned[3]. This kind of organizational
strategy foregrounds, not a particular company, but a network
of companies, a sort of ecosystem that often brings together a
local dimension and capacity to project outwards. The
characteristic of these networks is to balance competition and
cooperation. Practices that can be characterized as market
imperfections here become incentives to innovate. They help to
define the boundaries of the firm best suited to the decision
to innovate.

What is true of investment in physical capital is equally
important for investment in human capital. This investment has
a gestation period that essentially amounts to the learning
time. This 1s an essential element in developing new
productive capacities. Its products must be secured. The
labour relationships specific to a company and to the networks
of firms between companies contribute to this. The stability
of the employment relationship, which binds the employee to


file:///C:/Users/laurence-df/Desktop/JLG_redressement%20productif-(relu%20LDF).docx#_ftn3

the company, 1s a decisive factor in the 1learning and
retention of professional experience. The mobility of
employees between companies is another factor. This mobility
enables each company to draw on what an employee has learned
in another company developing the same sort of skills. It is
also a source of increases in wages, but it becomes possible
only if companies are in a situation of monopolistic
competition.

The difficulty of innovating even when 1investments are
irreversible and market information is incomplete requires
having access to financing in order not only to bridge the gap
between the profile of costs and the profile of revenue, but
especially to have a lengthy financial commitment, that is to
say, stable financial relations or control of the capital. The
problem most innovative firms encounter 1is that the assets
created are not easily re-deployable (including intangible
assets). This constraint, which justifies developing the
organizational means to acquire credible information about the
market, requires at the same time being able to enjoy
continuing financial support.

Goals and means of an industrial renewal policy

Identifying in this way the stimulants of business growth
should guide the policies to be implemented, which are
reducible neither to competition policy nor to industrial
policy. These policies concern the operation of various
markets (goods markets, labour markets, credit markets and
financial markets). They make use of a variety of instruments
and are situated at different geographical levels.

Industrial policy should set itself the goal of stimulating
cooperation between companies, including competing firms, and,
more broadly, of contributing to the formation of ecosystems
involving companies, banks and research institutions. The



point here is not at all to designate products or technologies
or even territories to promote a priori, but instead to help
foster market conditions that encourage companies to invest 1n
the ways that seem most promising. The criteria adopted for
subsidies or tax relief should meet this objective, which is
obviously more complex than that recently put forward of
targeting sectors where competition is strong [4]. This should
be the specific objective of funding for France'’s
“competitiveness clusters”, as well as of other forms of
public assistance.

Industrial policy has a regional dimension, since companies
have a tendency to group together to benefit from external
effects, in particular learning synergies not only with regard
to technological knowledge but also to knowledge of the
market. This phenomenon is in line with the willingness of
local authorities to assist in the creation of clusters.
However, there is no evidence that these local authorities
have the information they need or that they can avoid being
captured by lobbies. Competition between them can be expensive
when it involves tax competition, which can probably improve
the situation of some but only at the expense of others, and
which negatively affects overall performance. This inevitably
raises the issue of the competence, number and size of the
local authorities.

Competition policy is not a substitute for industrial policy.
It must pursue the same objective, i.e. to distinguish between
competition and cooperation. From this perspective, the role
that competition policy should play is to punish imperfections
and distortions that are harmful to innovation and validate
those that foster it. The handling of cooperation agreements
in R&D 1s indicative of this requirement. It cannot be
exclusive. Other types of agreement must be able to escape the
common law on competition.

Labour market policy must set itself the goal of strengthening
the ways and means of enhancing skills. First and foremost,
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this means creating the conditions for stabilizing the
employment relationship, which is a source of learning for
employees and of making sure that companies retain the skills
acquired. These conditions are undoubtedly covered by the
employment contract itself, but they are also inseparable from
the constitution of the communities or clusters making up
innovative business networks. These networks are “local”
labour markets in which labour mobility between firms 1is
potentially beneficial to all the partners with respect to
mastering new skills. Moreover, an end needs to be put to
incentives that contribute to perpetuating the privileging of
low-skilled or unskilled jobs. Finally, legal and regulatory
conditions that permit businesses to hold onto jobs in the
event of temporary difficulties (i.e. the use of short-time
working) should be strengthened.

Banking policy should set itself the goal of creating stable
relationships between companies and financial institutions.
So-called relationship banks, which collect information on
borrowers, have higher costs than traditional banks, but they
also have the advantage of providing resources to businesses
facing liquidity problems linked to the characteristics of the
innovation cycle. In fact traditional intermediation increases
the growth rate of the economy and reduces its long-term
volatility, as opposed to market-based funding[5]. It is also
important to refocus the financial system on traditional
intermediation, especially on business credit, and to return
to a form of separation between the two types of activity, so
that lending to business avoids the consequences of the
inevitable vagaries of market activity[6].

Fiscal policy must set itself a dual objective. The short-term
goal is to reduce labour costs by reducing the rate of
employers’ social contributions and increasing the tax on
value added. The medium-term objective is to penalize
unproductive activities, those whose contribution to growth 1is
dubious. From this perspective, it is undoubtedly necessary to
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tax financial services and to make greater use of taxes on
wealth and the transmission of wealth, as is recommended by
the International Monetary Fund. Without prejudging the
possible ways tax reform could be implemented, there is a two-
fold importance to reform: first, to promote the production of
industrial-type goods and services that are suited to
international trade, and second, to carry out a redistribution
of income and wealth in order to increase the potential demand
for these goods and services.[7]

Industrial renewal poses a major challenge for the French
economy, which is now caught between the German economy and
the Spanish economy. It requires a reorientation of all the
policies that affect and guide corporate behaviour, going
beyond just manufacturing firms — policies that are not
reducible to either the search for lower costs or to the
promotion of new technologies or to compliance with the rules
of free competition.

[1] On the nature of industrial organization, see Chapter 4 of
the work by N. Georgescu-Roegen, 1971, The Entropy Law and the
Economic Process, Cambridge Mass., Harvard University Press.

[2] See C. M. Christensen, 1997, The Innovator’s Dilemma,
Harvard, Harvard Business School Press.

[3] G. B. Richardson, 1990, Information and Investment,
Oxford, Clarendon Press. G. B Richardson, 1998, The Economics
of Imperfect Knowledge, Cheltenham, Edward Elgar.

[4] P. Aghion, M. Dewatripont, L. Du, A. Harrison and P.
Legros, 2012), “Industrial Policy and Competition”, NBER
Working Paper 18048.
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[5]1 Bolton P., X. Freixas, L. Gambacorta, and P. E. Mistrulli,
2013, Relationship and Transaction Lending in a Crisis, BIS
Working Paper, no. 17.

[6] T. Beck, 2013, Finance and Growth: Too Much of a Good
Thing, Vox eu.

J.-P. Pollin and J.-L. Gaffard, 2013, “Pourquoi faut-il
séparer les activités bancaires?” [Why it is necessary to
separate banking activities], Note de 1’OFCE, n° 36.

[7]1 Keen M., 2013, Tax Policy in (and for) Hard Times, Vox eu
http://www.voxeu.org/article/tax-policy-hard-times#.Um7/TETxwZz

A.gmail
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When the OECD persists in 1its
mistakes..

By Henri Sterdyniak

The OECD has published an economic policy note, “Choosing
fiscal consolidation compatible with growth and equity” [1]).
There are two reasons why we find this note interesting. The
OECD considers it important, as it is promoting it
insistently; its chief economist has, for instance, come to
present it to France’'s Commissariat a la Stratégie et a 1la
Prospective [Commission for Strategy and Forecasts]. The
subject is compelling: can we really have a fiscal austerity
policy that drives growth and reduces inequality? Recent
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experience suggests otherwise. The euro zone has been
experiencing zero growth since it embarked on a path of
austerity. An in-depth study by the IMF [2] argued that,
“fiscal consolidations have had redistributive effects and
increased inequality, by reducing the share of wages and by
increasing long-term unemployment”. So is there some miracle
austerity policy that avoids these two problems?

1) What goals for fiscal policy?

According to the authors of the OECD study, the goal of fiscal
policy should be to bring the public debt down by 2060 to a
“prudent” level, defined for simplicity’s sake, we are told,
as 60% of GDP. ALl the OECD countries must work towards this
objective and immediately make the necessary adjustments.

But a target of 60% is totally arbitrary. Why not 50% or 80%7?
Furthermore, this goal is set in terms of gross debt (as
defined by the OECD) and not debt under Maastricht. But the
difference is far from meaningless (at end 2012, for France,
110% of GDP instead of 91%).

The OECD makes no effort to understand why a large majority of
the organization’s members (20 out of 31, including all the
large countries) have a public debt that is well over 60% of
GDP (Table 1). Do we really think that all these countries are
poorly managed? This high level of public debt is associated
with very low interest rates, which in real terms are well
below the growth potential. In 2012, for example, the United
States took on debt, on average, of 1.8%, Japan 0.8%, Germany
1.5%, and France 2.5%. This level of debt cannot be considered
to generate imbalances or be held responsible for excessively
high interest rates that could undermine investment. On the
contrary, the existing debt seems necessary for the
macroeconomic equilibrium.

We can offer three non-exclusive explanations for the increase
in public debts. Assume that, following the financialization
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of the economy, firms are demanding higher rates of profit,
but at the same time they are investing less in the developed
countries, preferring to distribute dividends or invest 1in
emerging markets. Suppose that globalization 1is increasing
income inequality [3] in favour of the rich, who save more, at
the expense of the working classes who consume virtually all
of their income. Suppose that, in many countries, aging
populations are increasing their savings rate. In all three
cases a demand deficit arises, which must be compensated by
private or public debt. Yet since the crisis of 2007-2008
private agents have been deleveraging. It was therefore
necessary to increase the public debt to prop up demand, as
interest rates were already at the lowest possible level. In
other words, it is not really possible to reduce public debt
without tackling the reason why it’s growing, namely the
deformation of the sharing of value in favour of capital, the
increase in income inequality and unbridled financialization.

Table 1. State of the public finances in 2012 (% of GDP)

Gross publlc  Structural Output Loss In Effort
debt primary gap* potential required**
balance GDP due
to the crisls
Austria 85 1.1 1.6 3.0 0.2
Belgium 104 0.3 0.8 -4.5 1.6
Canada 85 -2.5 0.4 6.1 2.7
Finland 63 -1.8 -1.4 9.7 3.8
France 110 -1.3 -2.4 -3.6 4.7
Germany ao 1.4 0.1 -1.8 0.0
Greece 166 3.2 1.7 17.6 8.2
Ireland 123 -1.8 7.9 9.6 5.8
Iceland 132 2.6 -4.2 9.0 3.6
Italy 140 4.4 4.5 -6£.8 0.7
Japan 219 -8.1 0.8 -3.1 183
MNetherlands 83 -1.4 -1.5 7.6 2.8
Portugal 132 0.6 6.7 -10.4 7.5
Spain o1 -1.8 J.7 9.1 53
United Kingdom 104 -5.1 -2.1 -10.4 9.2
United States 106 -5.4 -3.0 -5.7 7.7
Euro zone 104 0.6 2.0 -4.9 2.6
OECD 109 -3.2 -2.3 -4.6 6.0

* According to the OECDy; ** short-term effort required to eventually stabilize the debt at 60% of GDP.

According to the OECD, gross public debt on the order of 100%
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of GDP, as at present, poses problems in terms of fragile
public finances and a risk of financial instability. The
economy could in fact be caught in a trap: households (given
income inequality, aging or their justified mistrust of the
financial markets) implicitly want to hold 100% of GDP in
public debt (the only risk-free financial asset), interest
rates are already near zero, and the financial markets are
wary of a country whose debt exceeds 60% of GDP. We cannot
escape this trap by reducing public deficits, as this reduces
economic activity without lowering interest rates; what 1is
needed 1is to reduce private savings and carry out a Japanese-
style financial policy: the central bank guarantees the public
debt, this debt is held by households, and the rate of
compensation is low and controlled.

We only regret that the OECD has not made a serious analysis
of the cause of the swelling public deficits.

2) Reduce the structural primary deficits

The OECD recommends that all countries embark on extensive
programmes to reduce their structural primary deficits. To do
this, we must first assess these structural primary deficits.
However, the OECD estimates are based on a very specific
hypothesis, namely that most of the production lost due to the
crisis can never be made up. That is to say, for the OECD as a
whole, 4.6 points of potential GDP have been lost forever out
of the 6.9 point gap in 2012 between GDP and the pre-crisis
trend. Also, the OECD believes that the structural primary
balance of many countries was negative in 2012 whereas it
would have been positive if the loss of production could have
been made up. For France, the OECD estimates the structural
primary balance at -1.3% of GDP, while the balance would be
0.5% if the loss due to the crisis could be made up. Only the
United States and Japan would retain a structural primary
deficit under the “catch-up hypothesis”.

Assume that long-term rates remain below the growth rate of



the economy and that it is not necessary to reduce the public
debt ratios. Then a structural primary balance at equilibrium
would be sufficient to stabilize the public debt. Only two
countries would need to make fiscal efforts: Japan (for 6.7
GDP points) and the US (for 2 points). The other countries
would primarily be concerned with re-establishing a
satisfactory level of production.

However, the OECD assumes that the countries will suffer
forever from the shock induced by the crisis, that it 1is
imperative to reduce the debts to 60% of GDP, that long-term
rates will be higher (by about 2 points) than the economy’s
growth rate in the very near future, and that public health
spending will continue to rise. This leads it to conclude that
most countries should immediately engage in a highly
restrictive policy, representing 4.7 GDP points for France,
7.7 points for the United States, 9.2 points for the United
Kingdom, etc.

The problem is that the OECD study assumes that these
restrictive policies will not have any impact on the level of
economic activity, or at least that the impact will be
temporary, so that it can be neglected in a structural study
of the long term. This is based on a notion that, though
widespread, 1is wrong: that the economy has a long-term
equilibrium that would not be affected by short or medium-term
shocks. But this makes no sense. Real economies can go off in
a different direction and experience periods of prolonged and
cumulative depression. Is it possible to imagine a long-term
Greek economy that is unaffected by the country’s current
situation? The shock induced by the strategy advocated by the
OECD would mean a lengthy period of stagnation in Europe ,
Japan and the United States; the depressive effect would not
be offset by lower interest rates, which have already hit
bottom; a fiscal cutback of 6% of the OECD’'s GDP would result
in a fall in GDP of 7.2% [4]; and the decrease in activity
would be so great that debt ratios would rise in the short
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term (see the explanatory box below). To believe that the
economy would eventually return to its long-term trajectory 1is
just wishful thinking. The OECD provides no assessment of the
impact of such a policy produced with a macroeconomic model.

We can only wonder that the OECD continues to advocate
austerity policies that were shown in the years 2012-2013 to
have adverse effects on growth and a negligible impact on the
level of public debt, instead of advocating a policy stimulus
that, while its content is of course debatable, would be more
promising for the Western economies.

3) Choosing the right instruments

The bulk of the OECD study, however, is devoted to researching
the policy instruments that would be most effective for
achieving fiscal consolidation.

Based on previous work, the OECD assigns to each instrument an
impact on growth, equity and the trade balance (Table 2). The
organization has happily discovered that in some cases public
expenditure can be helpful for growth as well as equity: such
is the case of spending on education, health, family benefits
and public investment. These should therefore be protected to
the fullest. However, the OECD does not go so far as to
imagine that they could be strengthened in some countries
where they are particularly low today. In other cases, the
OECD remains faithful to its free market doctrine: for
example, it considers that spending on pensions is detrimental
to long-term growth (since reducing it would encourage seniors
to remain in employment, thereby increasing output) and is not
favourable to equity. One could argue the opposite: that
reducing public spending on pensions would hit the poorest
workers, who would then 1live in poverty during their
retirement; the better-off would save in the financial
markets, which would strengthen these and thus fuel financial
instability. Similarly, for the OECD unemployment and
disability benefits hurt employment, and thus growth.



Moreover, subsidies would be detrimental to long-term growth,
as they undermine the competitive balance, and thus
efficiency, but the OECD puts all subsidies in the same bag:
the research tax credit, the PPE employment bonus, and the
common agricultural policy, whereas a more detailed analysis
is needed. Moreover, orthodox economic theory itself
recognizes the legitimacy of public action when the market
fails. The OECD has a negative view of social contributions,
whereas it is legitimate for public PAYG systems to be funded
in this way. The organization believes that income tax hurts
long-term growth by discouraging people from working: but this
is not what we find in Scandinavia.

Finally, the ranking produced (Table 2) is only partly
satisfactory. The OECD warns against lowering certain public
spending (health, education, 1investment, family) and
occasionally advocates higher taxes on capital, corporation
tax and income tax, and environmental taxes. But at the same
time it advocates cutting back on pensions and unemployment
insurance and reducing subsidies.

The OECD seeks to take into account the heterogeneity of
national preferences. But it does so in a curious way. It
considers that countries where income inequality is high (the
United States and United Kingdom) should be more concerned
with equity, but that the opposite holds for egalitarian
countries (Sweden, Netherlands). But the opposite position
could easily be supported. Countries that have highly
egalitarian systems want to keep them and continue to take
account of equity in any reforms they undertake.

Ultimately, suppose that, like France, all the countries had
set up an efficient system for the control of their public
finances (the RGPP then the MAP). At equilibrium, all expenses
and revenues have the same marginal utility. If there 1is a
need to save money, this should involve a reduction in costs
and an increase in revenue in the same proportions. Dispensing
with this strategy would require a detailed analysis of the


http://fr.wikipedia.org/wiki/R%C3%A9vision_g%C3%A9n%C3%A9rale_des_politiques_publiques
http://www.modernisation.gouv.fr/

utility of the spending and the cost of the revenue, an
analysis that the OECD is incapable of providing. The fact
that the OECD considers that spending on disability is
generally detrimental to growth does not give it the right to
advocate a strong reduction in disability spending in Finland,
without taking into account the specific features of the
Finnish system

Table 2. Short-term (5T) and long-term (LT) impact of fiscal consolidation
instruments on growth, equity and the trade balance,
according to the OECD

Trade Ranking*

LT balance

Spending (down)
Education
Health
Other spending
Penslons
Disability
Unemployment
Family
Subsidies
Investment

Revenue (up)
Income tax - -- + + + 5
Soclal contributlons - - - - 14
Corporation tax - - + +
Ecological tax - +
Consumer tax
Property tax
Other property tax - ++ +
Sale of goods - +

* The higher the figure, the less the instrument should be used in fiscal consolidation.

+ + 1 +

1
+ o
;
t++31F+1+

++ + + + X
1
%]

All things considered, the recommendations for France (Table
3) are of little use, whether this is a matter of greatly
reducing the level of pensions and unemployment benefits
(under the pretext that France is more generous than the
average of the OECD countries!) or of reducing subsidies (but
why?) or of reducing public consumption (because France needs
an army, given its specific role in the world).
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Table 3. Fiscal adjustments recommended for France by the OECD
(% of GDP)

Short term Long term

Penslons 0.6 -2.2
Subsidies 0.7 0.7
Unemployment benefits 0.7 0.4
Ecological tax +0.7

Corporatlon tax +0.5

Other public consumption -1.2 -1.1
Total adjustment 4.7 4.7

Overall, the OECD does not provide any simulation of the
impact of the recommended measures on growth or equity. It 1is
of course possible to do worse, but this still winds up in a
project that would lead to a sharp decline in growth in the
short to medium term and a decrease in spending on social
welfare. Even though it claims to take account of the trade
balance, it does not argue that countries running a surplus
should pursue a stimulus policy in order to offset the
depressive impact of the restrictive policies of countries
running a deficit.

But the OECD also holds that there are of course miracle
structural reforms that would improve the public deficit
without any cost to growth or equity, such as reducing public
spending without affecting the level of household services by
means of efficiency gains in education, health, etc.

What a pity that the OECD is lacking in ambition, and that it
does not present a really consistent programme for all the
member countries with an objective of growth and full
employment (to reduce the unemployment caused by the financial
crisis) and of reducing trade imbalances, especially a
programme with social objectives (reducing inequality,
universal health insurance, and a satisfactory level of social
welfare)!
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Box: Austerity policy and the public debt

Consider an area where GDP is 100, the public debt is 100, the
tax burden is 0.5 and the multiplier is 1.5. Reducing public
spending by 1 lowers GDP by 1.5 and public revenue by 0.75;
the public balance improves by only 0.25. The debt / GDP ratio
rises from 100% to 99.75 / 98.5 = 101.25%. It takes 6 years
for it to fall below 100%.

[1] Boris Cournede, Antoine Goujard, Alvario Pina and Alain de
Serres, OECD Economic Policy Papers, July 2013. A more
detailed version can be found in: Boris Cournede, Antoine
Goujard and Alvario Pina, “How to achieve growth-and-equity
fiscal consolidation ?”, OECD Economics Department Working
Paper, 2013.

[2] Laurence Ball, Davide Furceri, Daniel Leigh, and Prakash
Loungani, “The Distributional Effects of FiscalConsolidation”,
IMF WP/13/151, June 2013.

[3] See: OECD, 2012, Toujours plus d’inégalité [More and more
inequality], March.

[4] Using the multiplier of 1.2 from the OECD Note, 2009, “The
Effectiveness and the Scope of Fiscal Stimulus”, March.
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Renewed growth in the United
Kingdom 1in 2013: trompe-
1l'oelil effects

By Catherine Mathieu

The latest estimate of the British national accounts,
published on 27 November, confirmed GDP growth of 0.8% in the
third quarter of 2013, following 0.7% in the second quarter
and 0.4% in the first quarter. This represents a sparkling
performance for the UK economy, especially in comparison with
the euro zone. GDP was up 1.5% year on year in the third
quarter of 2013 in the UK, against -0.4% in the euro zone,
0.2% in France and 0.6% in Germany. In the eyes of some
observers, Britain’s return to growth shows that fiscal
austerity does not undermine growth .. on the contrary. But the
argument seems at a minimum questionable.

Let’s look at the numbers a little more closely. Admittedly,
GDP 1is up 1.5% year on year in the third quarter, but it rose
by only 0.1% in 2012 and is still 2.5 percentage points below
its pre-crisis level: this does not really represent a great
success. Even more striking has been the change in GDP since
the start of the crisis: GDP initially fell 7 points between
the first quarter of 2008 and the second quarter of 2009; the
recovery then got underway, allowing GDP to rise 2 points in
the third quarter of 2010, before it fell again. The GDP
trajectory since the third quarter of 2010 has been quite
unusual with respect to recoveries from previous crises
(Figure 1).
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Figure 1. Change In British GDP during recesslons and recoverles
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Source: Office for Mational Statistics (OMNS).

In 2008, the United Kingdom was one of the first
industrialized countries to implement a recovery plan. Gordon
Brown, Chancellor of the Exchequer in the Tony Blair
government, lowered the standard VAT rate by 2.5 percentage
points in December 2008 in an effort to boost household
consumption. The measure, which was announced as temporary,
was ended in late 2009. In 2009, fiscal policy was highly
expansionary, with a fiscal impulse of 2.8 percent of GDP
following a 0.6 point impulse in 2008 (Table 1). The public
deficit increased under the dual impact of the recession and
fiscal policy, as did the public debt.

In May 2010, the Conservatives won the election on a programme
focused on reducing the public debt and deficit. This was
supposed to ensure market confidence and maintain the AAA
rating of Britain’s public debt, and thus keep the interest
rate on the debt at a low level. This was combined with a very
active monetary policy, with the Bank of England maintaining
its key rate at 0.5%, buying government securities and making
great efforts to facilitate the refinancing of banks and kick-
start lending to businesses and households. The resumption of
growth was supposed to come from business investment and
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exports.

The fiscal policy implemented by the David Cameron government
has therefore been highly restrictive. At first, the measures
focused on increasing revenue by raising the VAT rate and
cutting spending, including on social benefits. The resumption
of growth was interrupted. Fiscal policy had also become
restrictive elsewhere in Europe, so economic activity slowed
in the UK’s main trading partners. In 2012, fiscal austerity
was sharply curtailed (Table 1). The growth figures in recent
times are a long way from demonstrating the success of
austerity.

Table 1. Growth and fiscal impulses in the United Kingdom since 2008

2008 2009 2010 20M 2012
Growth 0,8 .52 1,7 1,1 0,1
Fiscal impulse 0.6 2.8 -2,7 -3,2 0.5

Sources : Office for Matlonal Statistics (OMS), OECD, author's estimates.

It is also important to note that David Cameron has excluded
health expenditure from his cost-cutting plan. The British are
attached to their public health care system, and the newly
elected Conservatives were determined in 2010 not to repeat
the mistake made in the 1980s when Margaret Thatcher was head
of government. So fiscal austerity has not hit the health
sector. The result is clear in terms of activity: value added
(by volume) in the health sector is now 15 points above its
pre-crisis level — in other words, it has continued to grow at
an average annual rate of nearly 3% (Figure 2). The second
sector where activity has remained strong since 2008, and
which has even accelerated since the end of 2012, is real
estate. Property prices in the UK had risen sharply before the
crisis, leading to record household debt, and have not dropped
much since then. Indeed, they have remained historically high
and even begun to rise from 2012 (at an annual rate of about
5%). But other sectors are lagging behind. Most services have
for instance only now regained the level of pre-crisis output,
and some of them are still well below this level: -9% for
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financial services and insurance, which is comparable to the
figure for manufacturing, while output in the building sector
1s down 13%.

Figure 2. : Changes in added value (in volume) by sector since the onset of the crisis
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Sowrce: Office for Matlonal Statistics (OMS).

Since 2008, British growth has thus been driven in part by a
public service spared from fiscal austerity and by real estate
services supported by an ultra-active monetary policy.. The
British recovery could, moreover, give birth to a new housing
bubble. Household consumption is now the main engine of growth
(Table 2). The failure of investment to pick up represents one
of the main setbacks suffered by the supply-side policy
implemented since 2010 by the government. The government wants
to make the UK tax system the most competitive in the G20, and
to this end has slashed the corporate tax rate to the lowest
in the G20 (the rate, lowered to 23% this year, will be only
20% in 2015). But business investment has nevertheless not
picked up again. The government is also relying on exports to
drive growth, but given the economic situation prevailing in
Britain’s main foreign markets, in particular the euro zone,
this is just not realistic. After having experienced sustained
growth in previous quarters, boosted by strong sales outside
the European Union until the summer, exports have contributed
to a sharp fall-off in growth in the third quarter (-0.8 GDP
point). As the British government prepares to present its
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budget on 5 December, support for fiscal policy would be
welcome to help keep the UK economy on the road to recovery in
the coming months..

Tableau 2. Contributions of demand components to growth
In GDP points [except GDP)

2010 20Mm 2012

nd 14 Jnd 15t ond
half | half half | half

GDP, in % 1,3 08 04 06 -03 02 06 08
Household consumption 02 06|06 01| 05 04| 06 05
Spending by general government o0 00 00 00| 04 01 01 01
GECF 07 02 04 01 05 -08 02 02
Productive private 06 00 02 01 04 -05 02 01
Change in inventory 1,0 04 00 06 -1,0 07 202 09
Foreign trade 05 03 1,5 02 -06 -00 02 -09
Exports 11 1,1 07 02 01 03 02 .08
Imports 1,5 1.4 08 04 -06 03 00 -01

Mote: Half-year contributions, except * 3rd gtr contibutions. The sum of the contributions may not corespond exactly
to GDP grawth, due to rounding.
Source: Office for Mational Statistics.

Has the 35-hour work week
really “weighed down” the
French economy?

By Eric Heyer

Did the Aubry laws introducing the 35-hour work week in France
between 1998 and 2002 really make French business less
competitive and lead to job losses, as 1is suggested in the
latest report from the OECD? Has France seen its economic
performance decline post-reform relative to its European
partners? Have the public finances been “weighed down” by
these laws?
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A review of our recent macroeconomic history, coupled with
international comparisons, provides some answers to these
questions.

Record macroeconomic performances in the private sector
between 1998 and 2002..

Leaving aside an analysis of the recent Great Recession, over
the past 30 years private sector activity in France grew by an
annual average of 2.1%. Since the establishment of the 35-hour
work week, far from collapsing, economic growth in this sector
instead accelerated sharply, from 1.8% before 1997 to 2.6%
afterwards, and even hit a peak during the period in which the
35-hour week was being established (an annual average of 2.9%,
Table 1). Furthermore, it is noteworthy that of the five best
years recorded by the French market sector over the past 30
years, three were in the period 1998-2002 based on the
criterion of GDP growth, and four if the criterion used is job
creation.

The global economic environment accounts for some of this good
performance, but only in part: foreign demand for French
output was certainly more dynamic after 1997 than before, but
this acceleration continued after 2002, and cannot therefore
explain the better performances recorded between 1998 and 2002
(Table 1).



Table 1. Macroeconomic impact of the 35-hour week in the market sector
Growth rate, In % (unless specified otherwise), annual average

A Added value 2.1 1,8 2,6 2,9 2,2
B Hourly productivity 1,8 1,8 1,8 21 1,5
C Productivity per worker 1.1 1.1 1,2 0,8 1,6
A-C Employment... 0,9 a7 1,4 20 0,7
B-C ... linked to the duration of work 0,6 0,6 0.6 1,2 0,0

In thousands over the period analyzed

lobs created... 5374 2335 3040 2247 793
D Gross wages™ 4,3 51 2.9 2,7 3,0
E Consumer prices 3.7 4,7 20 2.1 21
D-E Real gross wages* 0,6 0,4 0.8 0,6 1,0
D-E-C Unit labour cost* 0,6 0,7 -0,4 0,2 0,6

Global demand for French output 57 5,0 6,9 6,2 7.6
* Per capita.
Sowrce : INSEE.

. and better than the performance of our European partners

Since the establishment of the 35-hour work week, France'’s
performance has been superior to that of the rest of the euro
zone, especially in comparison with our two main partners,
Germany and Italy. For instance, over the decade 1998-2007
France’s average annual growth was 1 point higher than for
Italy and 0.8 point than for Germany (Table 2).

During this period, French companies and households spent more
than their German and Italian counterparts. Business
investment, which rose at an annual average of 0.8%, was more
dynamic in France than in Germany (0.3%) or Italy (0.5%). As
for households, consumption grew by an annual average of 1.4%
in France against, respectively, 0.4% in Germany and 0.9% in
Italy. Furthermore, it should be noted that the continued
higher consumption in France does not reflect the behaviour of
household savings. The savings rate was not only higher than
elsewhere in Europe, but it has also risen since 1998. The
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solid performance of French consumption is the consequence of
greater dynamism in job creation in France during this period,
especially when compared to what was taking place in Germany
(Table 2).

Table 2. Main macroeconomic indicators: a comparison
with our principal partners

In %, annual average

1998_2007
1998-2002 2003-2007
Fra. 2,4 2,7 2,0
GDP All. 1,6 1,7 1,6
Ita. 1.4 1.8 1.1
Fra. 1,7 2,0 1,2
GDP per capita All. 1,4 1,5 1,2
Ita. 1,1 1,7 0,4
Fra. 1,2 1.6 0,7
Total employment All. 0,5 0,6 0,3
Ita. 1,2 1.4 0,9
Fra. 1,1 21 -0,1
Current balance (in GDP points) Al 21 0.4 5,0
Ita. 4,6 26 7,0
Fra. 2,7 2,3 -3,2
Public deficit (in GDP points) All. 22,2 -1,9 2,5
Ita. -2,8 -2.4 -3,3

Sowrce : QECD.

Unit labour costs [1] under control

Considering the large countries, France has cut hourly unit
labour costs in the manufacturing sector the most during the
period 1997-2002 (Figure 1). With respect to labour costs for
the economy as a whole, only Germany has done better than
France over this period.
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Figure 1. Change In hourly unit labour costs In manufacturing
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The implementation of the Aubry laws has not therefore led to
reducing the competitiveness of the French economy. The
reasons why are now well known: the way the increase in hourly
wages linked to the 35-hour week was offset by wage
moderation; the more flexible organization of working time,
which helped to boost the hourly productivity of labour (Table
1); the suppression of overtime pay; and finally State aid in
the form of lower social contributions.

Between 1997 and 2002 , by better controlling wage costs than
most European and Anglo-American countries, France improved
its price competitiveness and thereby its market share of
world trade (Figure 2). The share of French exports in world
trade, which was helped by the weakness of the euro and by
wage moderation, reached a peak in 2001.

Since 2002, France’s market share has declined considerably,
for two basic reasons: first, the 1loss of price
competitiveness of French exports subsequent to the
appreciation of the nominal effective exchange rate in France,
comparable to that observed in the early 1990s, and second,
Germany'’'s commitment to a policy of drastically reducing
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production costs. Since 2002, Germany has engaged in a process
of improving its supply by restricting income and social
transfers ( Hartz reforms , social VAT), which led to lower
unit labour costs in absolute terms but also relative to its
other European partners, including France. It is this policy
that accounts for the 30% loss in market share experienced by
France in the period 2002-2007.

Figure 2. Market share since the start of the 35hour work week
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Soumes : OECD data, national data, OFCE calculations.

The loss in market share is thus not peculiar to France. The
policy being implemented in Germany has enabled it to gain
market share in countries that are geographically and
structurally close to it, i.e. the large European countries.
In this respect, France is not the only country to have
suffered from this strategy, as Italy too has lost market
share during this period[2].

In total, since the introduction of the 35-hour week, Italy
has lost even more market share than the French economy (-27%
for Italy against -20% for France).

A limited cost for the public purse

Since the implementation of the Aubry laws, the relief on
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charges on low wages has cost general government an annual
average of nearly 22 billion euros. But this amount is not
attributable solely to the Aubry laws, since even before that
such measures had been established by the Balladur and Juppé
governments in the early and mid 1990s. The additional relief
generated by the Aubry laws, which was made more long term by
the “Fillon” measures, comes to nearly 12.5 billion euros per
year. But this amount does not represent the cost actually
incurred by general government. Indeed, as the Aubry laws have
created jobs (350,000 over the period 1997-2002 according to
official figures [JJby the DARES and used by the INSEE), the
cost for the public purse has been smaller: this job creation
generates four billion euros in additional payroll taxes; this
has reduced the number of unemployed, and thus unemployment
benefits by 1.8 billion euros; and finally this has boosted
household income, and the consequent consumption is generating
additional tax revenues (VAT, income tax, etc.) in the amount
of 3.7 billion euros. In sum, once the macroeconomic feedback
is taken into account, the additional cost of these reductions
comes to 3 billion euros annually, or 0.15 percentage point of
GDP.

A review of our macroeconomic history does not therefore
corroborate the thesis that the 35-hour week has “weighed
down” the French economy: business growth and job creation
were higher during the period from 1997 to 2007 than in the
rest of the euro zone, and the competitiveness of the French
economy, as measured by unit labour costs, fell by less than
in the rest of the euro zone, with the exception of Germany.
In this regard, 1t appears that the strategy conducted 1in
Germany from 2002 (Hartz reform and social VAT) better
explains the losses in market share by both the French economy
and our other European partners. It is rather in the public
sector, including hospitals, that the 35-hour work week has
proven ineffective.




The different measures relaxing the 35-hour week
I —The Fillon law of 2003
The Law of 17 January 2003 has two main provisions:
(1) Regulation of overtime

By increasing the overtime quota from 130 to 180 hours, this
law permits companies to use overtime structurally. Allowing
for an additional 4 hours per week throughout the year enables
companies to stay on a 39-hour week if they so wish. Specific
industries also have the right to negotiate a higher amount.
The Decree of 9 December 2004 brought the regulatory overtime
quota to 220 hours per year.

The Law also reduces the cost of overtime. For companies with
20 employees or fewer, overtime begins only with the 37th
hour, and the rate of extra pay is only 10%. For other firms,
this may be negotiated between 10% and 25% by an industry
agreement.

(2) Measure easing social contributions

The provisions for the reduction of employer social
contributions introduced by the Aubry laws were henceforth
disconnected from the length of the work week. All companies,
whether or not they had shifted to the 35-hour week, now
benefited. Structural aid beyond 1.6 times the minimum wage
(SMIC) was eliminated.

II — The tax exemption of overtime hours in 2007
This measure had several provisions:
(1) Lump-sum reduction in payroll taxes

This measure introduced a lump-sum reduction in payroll taxes
of 1.5 euros per hour of overtime worked by companies with



fewer than 20 employees and 0.50 euros in enterprises with
more than 20 employees.

(2) Alignment of extra pay for overtime

This measure provided that extra pay for overtime be aligned
at the minimum rate of 25% for all companies.

(3) Exemption from income tax

This measure allowed employees to exempt their pay for
overtime hours from income tax, up to a limit of 25% extra.

(4) Exemption from social contributions

This measure also included a reduction of payroll taxes equal
to the amount of the CSG / CRDS tax as well as all legal and
contractual contributions.
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[1] The unit labour cost is the ratio of the hourly cost of
labour to the hourly productivity of the work.

[2] Other factors may of course explain Germany'’s
better performance, such as the emergence of China. For a
recent version of this idea, see Chen R., G.M. Milesi-Ferreti
and T. Tressel (2013).
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